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http://ruby.gfd-dennou.org/index.htm.ja
https://magazine.rubyist.net/articles/0006/0006-RLR.html
http://www.jspf.or.jp/Journal/PDF_JSPF/jspf2008_04/jspf2008_04-217.pdf

GPhys, GGraph(1)
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require "numru/ggraph” #m#{t4LAS numru/gphys” TELY
include NumRu  # &TZRH#EAONUMRUEDFALTLINES
gp = GPhys::10.0open 'air.2011.nc', 'air'  # F—%3%A
gp = gplfalse,0..10,true]

#A %DHND2EE D (BE) DFATF TRIAH (N—Fv)L)
gp = gp.cut("lon”=>0..120) # EEAZ{ETHIAH (/N—F v IL)
gpmean = gp.mean(’time”)

#A B (B D) SOV TEE (CSTHDTT — 25 HAH)

# FERIFAEYLIC. THUTRIECPhysDFEFE
GGraph.tone gpmean  # (GGraphl=&%) &£ YH#E
DCL.grcls

EEEdDrequire & include (W DEDEELLEL)DHE:
gp = GPhys::10.open 'T.ctl', 'T' # ¥—#%5A(GrADSH )
file = NetCDF.open(”air.mean.nc”) # NetCDF771JL
GPhys::10.write(file, gpmean) # AT—REHIE—
file.close # I74LEAC
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GPhys, GGraph(2)

WJ TGPhys, GGraphFa—hY 7 JL I(http://ruby.qfd-
dennou.org/products/gphys/tutorial2/) &Y.
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GPhys::IO “air.2012-01,nc”, “air” £RL
— Y

$ irb_ggraph
>> gp = gpopen 'air.2012-01.nc/air'  # T—4%&A
>> tone gp # BEVEE
t
GGraph::tone gp
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GPhys, GGraph(3)
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GPhys, GGraph(4)
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GPhys, GGraph(5)
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GPhys, GGraph(6)

F+35')—(GGraphTEL =)

Fhgear 52—

HEE H(ROERLOOREHEDDIH, BOSNILOHS—/1\—%
HBIELTVBRESAN. FEREIETOLHL. B8, h5—/N\—FEIF
MIILT=TL—AITRRLTHS — DCL.sIdiv('y”,5,2) HDTT)

RHo=0.3 © @

270

B BB & 3B

=20 10 0 10 20

(e) RHe=0.6 RHe=0.7

a0

200 200 % ‘ 3 200 300
B 40 Py ) 00 290
8
£ e oo [/ N a0 280
A &
y i 270
s00 a0 200
d = S SZANSS 260
tooa -20 -10 0 10 20 foo -20 -10 0 10 20 1000

GPhys / GGraph (#£z ™, 2012)
8/9



> Jupyter Notebook + iRuby?
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